F45EIFFEEBCHRYV IMT —REFHEKRE

#8  THR20F7A208
=i BEREENS

FE )T
ATJOv7D 3 R li&fiz
1N - WA (ERY D bER) @ 2/2 1
2 WH - NE(S 8) @ 1/2 2
3 RE-PE(F ST C) 0/2 3
BZOwvY 6 i I&fiz
4 8- - 2XRE T JID 1 1/2 3
5 KT -F¥E(BMKXKZF) @ 1/2 1
6 B -ZEH(2 & =) 1/2 2
c7Owy 9 i I&fiz
T WL WP (W T C) @ 1/2 2
8 HIR - MOEE(TANNY 5) @ 2/2 1
9 FB-EB(2 & =) 0/2 3
DJOv7D T3-+h 12 s I&fz
0 KK - BH(E & =) @ 2/2 1
MEHAR TEBE(F ST C) 1 0/2 3
NRER- -FE(BABE) 1/2 2
EJOvD 15 i B I&fiz
13 PR - FE(H M KX F) 1/2 2
14830 - B (TS D 0/2 3
BT - Bl (F %) 2/2 1
FJOwD i I&fiz
16 8k - PRN(F S T C) 1/2 2
T8 - Il & (@ ) 0/2 3
BITT - HR(EBE B ) 2/2 1
G7OwD 21 s [[=fima
MVMEHF - -HA(E K R) @ 2/2 1
20 Bge - BOE T @ 1/2 2
21 83T - EHR (B B) 0/2 3
HZOwD 24 s I&fz
22 thH8 - KRB (TANNY 5) 2 1/2 2
23 IWVIl - RIR(E2 B &) 3 0/2 3
umE-Z2IE 25D 2/2 1




BFBITR REL—FAY

T MY e A 3 2, . Lt

A AR - WA (BRY D hER) 0 J—7F T - %8B (P
o 4648 - 8B (TANN Y s)—l_2 052 2=

GoEE - EO(E T ) 8| s , EEE W (W
BI AT - F52 (8 @ £ %) T - B(R2

3 .
Cl /- E(Tanny s)—L J—aﬁ-ﬁﬁwg
Fo= - PR(F S T C) 23 200 T - B(R2
F2 CpiR - FE(B B A %) 1 ; W@ - (B
D1 HEF - BH (2 &R =) fRE - 2B D
Bz BT

1 1808 - WWE (P 1/3 3
2 WE-BE(H » 0/3 4
3 B/ T GE 2/3 >
4 W BB (S 3/3 1

T

&

&

&

®) E

- B (B A0 % 8) D2

Cc)cC2
=) F1
&) 61
=) B2
B) A2

=

T L) H



TE -7

AZOw7D B [=ivs
1T E-0DL B V) 2/2 1
2 NGB TR (A L YY) 0/2 3
3 EE - BE(S R) 1/2 2
BZOwv7 [=ivs
4 RE - WEB (B B8) 4
5 AT - fE@ (R 7LEY +1] 2
6 MW -l =Y —-2| 3
T EE-¥FB(d o u x) +1 1
c7Ows PR [=ivs
8 N - FB(; ° W 0/3 4
9 IEH-FB(L L ¥ I) 2/3 2
0 RN - ER(L E V) 1/3 3
NS ZE(Y ) 3/3 1
REER—F 2 b
Al E#F -0 O(L B V) &5
2
B2 AT - {EM@ (BEY 7 hEX) 1I R (S
3
CONEH -FB(F L ¥ I) K- 2 (Y

cFB(d o u x) BT

R) A2

*) C1



')

ATOwD 1 2 3 PSR (=
1T ER-BN (K T H) @ @ 2/2 1
2 FEE-BI(E £ ) 0 0 0/2 3
3B LEN(L E V) 1 @ 1/2 2

BOw7D 4 5 6 BE=R (=i
4 PEE--SBR(J R) @ ©) 2/2 1
5 A& - KL ( K ) 1 @ 1/2 2
6 &l -FHEE(E T I 3 2 0/2 3

c7Ows 7 8 9 PSR (=
T BE-BA(F U —) 3 0 0/2 3
s g -mAx(R 2 5 @ 3 1/2 2
9 /K -BE(E T NI @ @ 2/2 1

DTOvY B (=i
10 B - NW( K 2/2 1
N HB-BP (R« — 0/2 3
2EG - LB 5 4 1/2 2

EJOvD 13 14 15 s (=LA
BEE-RR(E £ D @ @ 2/2 1
14 5% - 0B ( K ) 1 0 0/2 3
1B KB -=wmWJ R) 0 @ 1/2 2

SREE N —F Sk
AMER-BN (K & E)—L J—wa-u\m

2

2 KB - W (J R)—L we -0 (D

+ s By, 2 e n

2 1

Bl B - B4R (J R) . BB - E# (L
ClEX-B8(E = ) EEE - RR (B

) D1
(&
) C2

) B2
>) A2

1) E1



	結果

